0.10 < ¢? < 0.98 GeV?/c?

1.1 < ¢? < 2.5GeV¥c?

2.5 < ¢? < 4.0GeV?/c?

P | —0.099 70158 +0.014 —0.451 70329 4 0.038 0.571 73291 £0.045
Py | —0.00310:0%) £0.007 —0.373 10195 +0.027 —0.636 19732 £0.015
Py 0.113 75079 + 0.006 0.350 79-330 +0.015 0.745 73387 £0.030
P, 0.185 70128 +0.023 —0.163 15332 +0.021 —0.713 10252 +0.024
P! 0.387 15:152 £ 0.052 0.289 70229 +0.023 —0.066 70353 +0.023
P} 0.034 73132 +0.015 —0.463 15292 4 0.012 0.205 79952 + 0.013
P} 0.180 9172 +0.007 —0.208 79228 + 0.024 0.091 73555 + 0.025
4.0 < ¢® < 6.0GeV?/c? 6.0 < ¢® <8.0GeV?/ct  11.0 < ¢? < 12.5GeV?/c?
P 0.180 79362 + 0.027 —0.199 5281 4 0.025 —0.74510-297 +0.015
P, 0.042 73588 + 0.011 0.241 79961 +0.013 0.418 70092 £ 0.005
Py 0.083 70187 +0.023 0.057 70138 +0.013 0.007 *J 138 £0.010
Py | —0.448 5159 4+ 0.020 —0.599 15131 +0.010 —0.567 70157 £0.014
P, | —0.300151%8 +0.023 —0.505 10135 £ 0.024 —0.655 T0150 £ 0.015
Py | —0.03210187 +0.007 —0.095 70132 £ 0.011 —0.282 15-12% +0.007
P} 0.342 0158 + 0.009 —0.171 15142 4 0.006 —0.015 19195 £ 0.005
15.0 < ¢ < 17.0GeV?/c*  17.0 < ¢? < 19.0 GeV?/ct
P | —043610151 £0.018 —0.581 19225 + 0.037
P, 0.421 73622 + 0.005 0.314 70595 +0.007
Py 0.029 73552 + 0.006 0.145 70107 4+ 0.008
P, | —0.67210113 +0.016 —0.556 75133 4+ 0.016
P —0.6627919% +0.017 —0.676 10133 £0.017
P} 0.127 t9-119 + 0.006 0.092 70125 £ 0.025

0.007 5139 £ 0.005

0.027 0147 4+ 0.009



